Powey oF |
/q_ 0:) L‘!2.: L'-IO
53 L—s‘ = (

.
W

= e = EDENY = 8-/
s 5=t L~l(~( -
L= N A AP N

1?2 -t (= 'q | (~t)= —t

-1FRTHe = O Lot uzx"

~1Fu +l = O

(UL — 1 3(%—/@}: O
x =D (x"=1e) = O
(x —\)(x+ 0y (%= NX+yY) = O

S\'ﬁtﬂ‘tw«:\ . )ﬂ ,

wk\{ Bocave  X—

by re 200 -quur
oty

ST CIAN R

2o o8 XH =0 o K- =0 o K+4=O

(o xer @ xe-l W xmy o em X=TH



M6 /b,.09.07

ﬂ‘Q_ (04\9{4\ § 20m Lo:gg _H\q“.-\?:ﬂg; ol .
What  are the  lwqth ad wdtth |

L Lot L= lughh W= widHh
W ) k“ Y
L = oW - 20

Sbshye, @ (2w —20) +2W = 620

(a1 39 Y -0 +2W 2620

oo 2_“1"‘5/““"5\ LW Y40 = 60

*o iqw/iuma&(e (D\AJ :(pQO
W = ]10 m

| = 2@0)-20 = 200w

d‘_eik_-. L (00 + 2(/0) = 610 ™ coreect (W":'-CLV

100 = ?_((:O\-—-?’O a{_(° correct



MG /6 .0§, 073

S§= -1ttt +9+¢
A) Ab ket gy will ok 7k & heghy of Gofe?
Sob s=§0 , b soke P €
§0= —/l6t" +90Lt
jo4* a6t +80 = O
o (-6t +5)= O

o (e=-15(-5) =0
La\=0 o t-5=0

/=€ &
&é'—‘*/gewé_} o Pt -8 Jaanca_({
rd\:;‘h‘f‘a
‘bB Ao Rows  ™any Ceeonds b F S 'H‘QJ"MWJ?
Solve. o= -lb tt+96+
o= -lbot (+ - (o>
4+ =0 o~ t-6=0

rt =6 Serondy




